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2. A full jar of candies contains 60 candies. Each day, 4 candies are
removed from the jar.

a) Complete a table of values showing the number of candies in the
jar after 0, 1, 2, 3, 4. 5 and 6 days.

b) Sketch a graph to show the number of candies in the jar each day
from the time it is full to the time it is empty.

¢) Identify the initial value and rate of change for the number of ,._"‘6@
candies in the jar. — 6 -  —
. . S S
d) Create an equation to model the number of candies in the jar, n, .
s = - Canoof'tef/o%

after r days.
—_—

e) For what values of r does your equation apply?
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3. A linear relationship between volume and time is described by the given start value and rate.
Determine an equation to model the volume (V) at a given time (f).

a) Start: 8L b) Start: 540 mL ¢) Start: 0cm’ d) Start: 30 gal
Rate: 3 L/min Rate: —20 mL/s Rate: 5 cm®/min Rate: 0 gal/min
DQfenerri‘ = lnha) L Pofe x l(\oleﬁadg;t
variable valne Vaciable

a) V=843t Q) V=O+St

b) V = S540o -0t

4. For each of the following linear relations, state the start value (initial value) and the rate of
change. It is not necessary to include units in your answers.

a) V=50+2 b) V=50-2% c) A=350+40n d) p=10n+25
I~nhal _ )/{|+\b\| B I/\]’H&l _ N
Valne =20 valwe T T =S
RofC=2 RofC=2 Ryc=to RefC=l0

e) y=125x-30 f) d=—%n—90 g) v=—0938t h) d=16

lnhal _ l~rhal _ Inhal [nirhal ~
\;\alv\e -%0 valne =70 Value O vale 6
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5. You can estimate your maximum heart rate, in beats per minute (bpm), by subtracting your age
from 220.

a) Create an equation to model maximum heart rate (H) for a given age (x).

b) Use your equation to estimate your maximum heart rate. W
In Aal Valwe = 220
oo of Cw = =] prr Y7

— H= 220+ <—l>(x>
H= 220 -X

b) Max het (el = 220 = oo

7. For each of the following linear relations,

i) state the initial value.

ii) state the rate of change.
iii) determine an equation to model the relationship.

M Time Distance M Number Cost 2 Time Depth (8 Volume Mass
(5) (m) of P60ple ($) (min)  (m) (gal) (b)
0 110 0 0

0 20 IO
| < 1 50 <1 \ ]0 2‘:0 /% ¢ 124
[ 2 80 7 O 20 400 10 70 40 248
3 110 30 550 15 50 60 372
4 140 40 700 20 30 80 496

/0":"/7'41{ value is fe deﬁ’»coeﬁf value ooken
#e indegpandot Valne s 220

Rofe of chorse = L2

o) bl - D) i 2 1o
vialne Value 150

Re(C = 2 Rof C =

= 0 |§
:_50?:204_% =__>C:Ia)+"§m
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7. For each of the following linear relations,

i) state the initial value.

i1) state the rate of change.
iii) determine an equation to model the relationship.

DY Number Cost ) Time Depth YN Volume Mass
of People ($] (min)  (m) {gal) (lb]
0 | 110

M Time Distance

1 | 350 2ﬁ0 S<< >-2q 124

2 | =0 70 400 10 | 70 40 24

3 110 30 | 550 5150 299 a2t [ 2%
1 | 140 20 | 700 20 | 30 0 | 4%

I iral velue is #e deperdedt velue ouber

e ;AAWO'\E \/ab;ei ;é'.s‘ 20/5

Rude of chove = £I2
> /f‘f/‘&, = (0O

valne /Z_‘-I-'
- 20
KofC =75 EG’CC* -
=% =

=S, d = IOO’{‘(_‘(’)({) = M = CD’/-%—/\/

— _ ol
A = loo- ¢t m:%‘l’\/éz\/

10. Initially, only one person in a small town is infected with a virus. With each passing day, the
number of infected people doubles.

a) Create a table of values to show the number of infected people in the town from day 0
through day 7.

|~hal value = | Qo(“&d{ckxja
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10. Initially, only one person in a small town is infected with a virus. With each passing day, the
number of infected people doubles.

b) Use your table of values to sketch a graph of this relation.

¢) Is the relationship between the number of infections and the
number of days linear or non-linear? Explain.

d) Calculate the first differences for the table. Do you notice a
pattern?

e) Suggest an equation that could be used to relate the number of
infected people to the number of days passed.

b) /M C) '\]OY\" [l}\w QC\’FQ
of Changa i§ ~o€
= d) Pre ditferences have

Sarne Values @S5
»}/i,ie/\,:,\wJo?/ /’”ﬂde_Qd
= # i~fected, d = #of days

S
d

o) T =2

m—

14. Each of the following describes a linear relation between the variables x and y. Determine an
equation to model each relationship.

’(\,”\Rl

\/oJ ne

Rof C = ¢

= 20

400 50 5¢
320 dD 1 4
280 35
240 c 30 3
200 |'2C) J 25
180 20 T T 2
120 +— 15 | 15
C T w 10 { 1
40 . 5 . 0.5
p 1234567 8810 0 4 8 12162024 28 32 36 40 0
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14. Each of the following describes a linear relation between the variables x and y. Determine an
equation to model eacgre]ationship.

the right.

K of C

’r\\’}\G‘\(

value

Check

~ 30

=8

( looks st lesp

e~ Go

_9 = ?—1-8_):

17. Find an equation for the linear relation shown in the graph on

)

20

0

246 810121416

Sire, e point froen T araph (4“/ 30)
_25/7?0 = 74 8(‘@\
v H0=74732
S0-32 = 24%0-
38 =7
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